EARAROBREBRT —5 XN—ZXBISH—F 202358148 (B) 10#E6H

P vSRAmE 1BISA UEE] ©F TR R
[xE<] 1 7% :8,000,000 3 23 :3,200,000 3 33 :2,000,000H , 43%:1,200,000 3 ., 5 3 :800,000
BRE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
=~ sy » EHE" :09. - . . BUAE (FER)
1| Foxvv—A—n LR s N e R N
RiFAITATv— B:HVIT7IHY (\) #B81—-RU—yavBEEI7
= = 4 | ATS 1:09.4 2-2 35.1093.1 | 7 460 | FEERSEXIME (5EF)
2|7(12(| 7747V 56.0 &6 e | P
RiN—ANR B:F7IY—va YUY v KB
oS RS 9 — v 5 | ELARKE 1:09.4 14-13 33.5|93.8 | 1 438 | ANEth EH)
317113 D bh=a—V A55.0 F9%) © |TEmET
R:ANWTz—IN B:A—Z—D=— DS
— < BHEC : - FhE— (FR)
4 4 FA vy [B] 4 5 e ) 1.?19).6 5-6 346 91.2 | 6 5(8? ﬁBEZ?i*‘/}I/Q
RUTPIAVINT N B:ENU—EILR /=YY T7—L
~5 K s 5 | BLUIEA 1:09.6 7-7 3450 91.2 | 9 460 | BERIA ()
5l8l15| TYTLLO—R %55.0 1) Ca) | LOB—EB
RIIET7RAT BAXATIVI UL #HBI7—L
= S 4 5 | REHHFHE 1:09.7 13-13  [34.0| 90.5 | 4 458 | HP=ER (RF)
618114 TIVXVIY 58.0 @E) (4) |EBEE
RiAWTz—IIL B:FUI-Iz BHE
= AEXH :09. - . . MUALE (5EER)
5 )| Z72LT5 TR it 4 . (11019/29) 5-4 35.0| 87.8 | 3 ig? MI_ELE
RiRSAYF B:FAhFA b BRI 7—L
= — f 5 | REN 1:10.0 15-13 [ 33.9| 87.4 | 11 | 408 |#AKERF ()
gl5|lg|7SvIN—h 2540 /2 a9 | B =S
RiN—ANR B:7I7TI—N—b BRI
—__ sy TR :10. - . . AER (EH)
N B2E eSS Xk e |77 [sfmes || o [ERE
R:T—ILRI—X #:ROTRs—)b RO8US
w RJ\— 8 4 | MAKKE 1:10.1 10-10  [34.7] 85.9 | 12 | 432 |dEBR )
10 10| FAFYEN=D 5.0 (1/2) +10) RU—R5 R~y T
RIE—UR #:2bORU-X TERUS
S, =t = [z} 20y, : - BUBFIE (ER
5|3 | 91/ TS (8] ks By | P R
R:FRF BIAFFSS BRE&H BT RU—R—RSVF
W4 — BHEXCF :10. - . . HhES (8
120111 @vF=KIL B4 s (1715(1)72) 7-7 35.0 | 84.8 | 10 (4;122) EoE
RiPRIAV L= B:I9H/ URvA AEOES
= s 4 | TR 1:10.2 10-10 [34.8| 84.9 | 8 168 | FTREEME (=8
13N 5| T=2TL 56.0 N (g) | OEHEE
R:A7U—ve—0— H:JI)LTa W7 7 —L4
-~ fto4 | ERSA 1:10.2 10-10 | 34.8| 84.9 | 13 | 414 |B¥FHL CEH)
1403 | 7ALT7AY 56.0 ) g | B SWI7—n
RiIAYYTSwvya B:e—35TRX=— PIRILLIBR415
3 4 5 | IBHEFEX 1:10.7 3-3 36.1) 80.2 | 15 | 484 |HWKERFI (@)
N BICBECEY Ay, 5.0 o Gy | mms
Ry I—FIIIT B:9—IVAYDYR WS IE
[ BN
En'y 46.7-35.2
NOYIA L [ 12.0-10.7-11.5-11.4-11.4-12.4
@ 11— —BBIEIL
13—7F—
20—F—
Ia=5r= (+11,12)-7,9(2,4) (1,6,15) (3,5,10)-14,13,8
40—7F— 11,12-7(2,9)4(1,6,15) (3,5,10) (14,13,8)
0 ILRE
BB 1" 470 JA R 11-12 870 & 6-7 820 3JEE | 11-12-13 3,310
B B 1 170H 11-13 410M o 18 11-12 2,670 3EE | 11-12-13 19,680M3
12 320 12-13 760M oS- 11-12 4,810
13 160/

ABIC OV TRUTEREERRODDZE. THRIIZEL.



